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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
-1 v 2o T 7S ¢
a)  Define small scale industry.
Y R0 e 1S |

b) Distinguish between foreign aid and foreign

direct investment.

@WEE R @R e @mrE [N s
N @2 |

c) Name two Public Sector Enterprises in India.

CIR0oH 6 AT SEIeE % @1 |
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d)

g)

h)

1)

k)
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What do you mean by Rabi crop?
AR =7 Twce 6 @l

Mention any two instruments of Green

Revolution in India.

SRS FJG [[RATEE 76 oA i (#7121 |
What do you mean by free trade?

Sy qiferey Fe1ce 6 Cqlie

Mention two arguments in favour of Foreign

Direct Investment.

SIS dorF ([@MHF RN F90F 1t Ife vie |

Indicate two advantages toward introduction of

cooperative farming in India.

OIS FRCO RN BI¥ 2SR 9f6 Al @14 |
Mention two sources of industrial finance.
CRCed e aifewifas a7t T @14 |
What is the full form of IDBI?

IDBI @31 Jca wigf (=74 |

What is the apex institution in the field of

agricultural credit?

SISO FRO AfSHIETE Ao A 727
@4
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D

Indicate any two drawbacks of Industrial

Licensing System in India prior to 1991.

Sod S AR 2! I 415 T8 o 46 @b

T4
m) What do you mean by Operation Barga?
S it eice 6 e
n)  What do you mean by disguised unemployment
in agricultural sector of India?
SIS FRCH(G TR ([IFIAG IEC 5 (A 2
2.  Answer any four questions: 5%x4=20
@-CFICT BAfS 2o Ted vie ¢
a)  Discuss the importance of agriculture in Indian
economy. S
SRS SIS FRA wPg SEb 7 |
b) Indicate the causes behind low productivity in
agriculture sector of India. 5
ISR FRICHCT T8 SeoA MR Feref @14 |
c) Explain any two features taken in New Industrial
Policy of 1991 in India. 5
TS So5d AE To Faeifod 9o @% @14 |
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d)

g)

3. Answer any two questions:

Discuss the issue of regional disparity in the
context of green revolution in Indian

agricultural sector. 5

ISR FRCe I [RE@E (Fg Nl @07
[BERIEAGIPRIEEE

Write the causes of Industrial Sickness in India.
5

SIACe Mg Fae FFelE @12

Explain the concept of disinvestment of an

economy. 5
@I wgHifore et qRe Kge 31|

Write a short note on Exit Policy adopted in
Indian industrial sector in post-liberalization

era. 5

TR SIae! ot SIS MEeRe i S 7
G35 Bl (=14 |

10x2=20

@I 7S 2ra Ted M6 2

a)
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Briefly describe the objectives of Land Reform.
How far these objectives are satisfied under the

programme? Discuss. 3+7=10

CRPICRIER Srarafe] R (14 | @3 Sraafel
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b)

d)
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70 FACO THRPIH FO0! FRFA TR A
39|

Define public sector. Critically evaluate the
performance of public sector in India.
2+8=10

FEFIA Tl TS [ (@RI 2 SRS ATHA S
E 9 |

Discuss the reasons behind deficit in balance

of payments in India. 10

SRS (1w THred qibfed foree Fiaeefe @2 |

Describe the changes taken place in India’s

foreign trade during the past two decades. 10

5T W2 Wi (K ISR (A qifelcens sifo egpfers
@ ARG GPICE O AT I 9|

Give a short description of sources of rural

credit in agricultural sector of India. 10

TS A FRACH S 7=2((F «I{G OIF (14|
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